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found[i] := j; —0000000000000000 foundij00O0000O
exit L; —0odobodoooooooboooboooooooga
end;
end;
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procedurevm search (table, data_to_search, found, N);
begin
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for i :=1toNdo

for j := size(tabl€[i]) to 1 by -1 do
— 0000000000 00oDoooooDoooooooon
if data_to_search[i] = tabl€i, j] then
found[i] := j; — 000000000000 o0o000oDooooooo

end vm_search;
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procedure vmx_search (table, data to_search, found, N);
begin
found[1 .. N] := 0;
X := max(size(table[l .. N]));
— 00000000000 0000000O0000mkODOD0OO00O0O

for j:=mxtolby-1do —00ooooooooooooooog
fori:=1toNdo —Jd00oooooooooooooog
if data_to_search[i] = tabl€[i, j] and j < size(tabl€|i]) then

—j<size(tablgi)) DO O O0O0OO0O0OOOOOOOOO
found[i] := j;
end vmx_search;
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procedurevic_search (table, data to search, found, N);
var index, count, ndata, ix, j;

begin
found[1.. N] := 0;

00 indexJOOOO ndata0OO0ODO0O:*/
count := 0;
L1
for i :=1toNdo
if 1< size(tabl€[i]) then begin
count := count + 1; —0000000oDoooooooo
index[count] := i;
— 0000000000000 indexd (S810/S8200 000000000000
— vsTC (Vector STore Compressed) 000 0) 00000

end;

ndata := count; —0odooooobooooooa

< 0O0:*

=1

repeat —0o0oooooooooooooo
count := 0;
fori:=1tondatadobegin —O000O00OO0OODOOODOOOO

ix := index(il;

if | < size(tabl€[ix]) then begin
if data_to_search[ix] = tabl€[ix, j] then
found[ix] :=j
else begin
count:=count+1;, —0OO00O000OO0O0OOOOODOOCOOODOOOO
index[count] := ix;
— 00000000000 0oDoOo000Doo0oo0DooOooooDod
— 00 indexOOOOOOO

end;
end;
end;
=i+ L
ndata ;= count; —0oooooooooo
until count = 0; —000oo0oOoo0OoUOOoDOoOoDOn

end vic_search;
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48 OO 1: FortranU OO OOOOOOMO
Joobogbooggogd

goboobbooogoddnt porran DU OOOOOOOODOOOOOO 40000
gooboobboooooobbobbbooodubobrorran DOOO0O0OO0D S
810/S8200 000 Fortran DO ODUODOODOO0OOOOODLOODODODOODOODOO
goboboobbuooggoobooobbudoodoboobboooooobooon
goobobobboooooobbbobbodoooobboobobboooooobobooboo
gobbobbbougooobobbobboooogobobooo

* Inputs:

* TABLE: Vector of the table to be searched.

* TLENG: Vector of table length. TLENG(I) is the length
* of TABLE(*, I).

* VSIZE: Maximum vector length of TABLE.

* TSIZE: Maximum table length.

* VDATA: Data to be searched for.

* NDATA: The number of data (= the allocated vector
* length of TABLE) .

* Qutputs:

* FOUND: Indices of the found element. If not found,
* FOUND contains O.

48.1 000000

gobbobbbouggogobbbbbuooooobobbb200000ooobn
00 (+vopTION) DO UOODOOODOOOOOOODOOOOOODOODDOODO
goooooo

SUBROUTINE SSRCH(TABLE, TLENG, VSIZE, TSIZE,
* VDATA, FOUND, NDATA)
IMPLICIT INTEGER (A-Z)
INTEGER VDATA (NDATA), FOUND (NDATA)
INTEGER TABLE (VSIZE,TSIZE), TLENG (NDATA)
*VOPTION NOVEC
DO 20 I = 1, NDATA
FOUND(I) = O
*VOPTION NOVEC
DO 10 J = 1, TLENG(I)
IF (VDATA(I) .EQ. TABLE(I,J)) THEN
FOUND(I) = J

GOTO 20
END IF
10 CONTINUE
20 CONTINUE

END

482 JUU0O0OOO
gobobobooogooobbbbbouoooogobobood
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SUBROUTINE VMSRCN (TABLE, TLENG, VSIZE, TSIZE,
* VDATA, FOUND, NDATA)
IMPLICIT INTEGER (A-Z)
INTEGER VDATA (NDATA), FOUND (NDATA)
INTEGER TABLE (VSIZE,TSIZE), TLENG (NDATA)
DO 20 I = 1, NDATA
FOUND(I) = O
DO 10 J = TLENG(I), 1, -1
IF (VDATA(I) .EQ. TABLE(I,J)) FOUND(I) = J
10  CONTINUE
20 CONTINUE
END

483 UUUULOOboooooon
gobobobbbodooogobbobobbudoooooboobbooooaad

SUBROUTINE VMSRCM (TABLE, TLENG, VSIZE, TSIZE,
* VDATA, FOUND, NDATA)
IMPLICIT INTEGER (A-Z)
INTEGER VDATA (NDATA), FOUND (NDATA)
INTEGER TABLE (VSIZE,TSIZE), TLENG (NDATA)
MX = 0
DO 20 I = 1, NDATA

FOUND(I) = 0O

MX = MAX(MX, TLENG(I))

20 CONTINUE

DO 40 J = MX, 1, -1

DO 30 I = 1, NDATA

IF (VDATA(I) .EQ. TABLE(I,J) .AND.

* J .LE. TLENG(I)) THEN
FOUND(I) = J
END IF
30 CONTINUE
40 CONTINUE
END

484 JU0U0U0LOLbooooooon

goboobboooooogobbbbboooooobbbbbouoooooob4400d
goodoboobooobuoobbooobuodb tenbUDdse 000 ooonoon
Oo0ooobooboooboobooobooboobobooboonoDb s810/s
8200 Fortran U DO ODOODODOODOO thenDUedse D ODOODODODOOOOOOO
goboboobbuooggoobooobbudoodoboobboooooobooon
goopobobDo0 noEXODOO0OO0O00OooDoObObOOo00ood npExUooogonoo
gobbobbbodgod inexdgggoboboobbouoogoooobn
DoOoobooobooboboobooboboo (vorpTION) O 10000 DOOODO
gobobobobbOd0Fortran 00O ODODOO0O0O0O0O0ODODODOD INpEXODDODOOOO
gobbbobbuoogooobobbbbuoooooobobobboooooon
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SUBROUTINE WISRCC(TABLE, TLENG, VSIZE, TSIZE,
* VDATA, FOUND, INDEX, NDATA)
IMPLICIT INTEGER (A-Z)
INTEGER VDATA (NDATA), FOUND (NDATA)
INTEGER TABLE (VSIZE,TSIZE), TLENG (NDATA)
INTEGER INDEX (VSIZE)
COUNT = 0
DO 10 I = 1, NDATA
FOUND(I) = O
IF (1 .LE. TLENG(I)) THEN
COUNT = COUNT + 1
INDEX (COUNT) = I
END TIF
10 CONTINUE
J =1
NDATA1 = COUNT
* LOOP
20 CONTINUE
COUNT = O
*VOPTION INDEP (INDEX)
DO 30 T = 1, NDATAl
IX = INDEX(I)
VDIX = VDATA (IX)
TIXJ = TABLE (IX,J)
IF (J .LE. TLENG(IX)) THEN
IF (VDIX .NE. TIXJ) THEN
* prepare for the next step
COUNT = COUNT + 1
INDEX (COUNT) = IX
ELSE
FOUND (IX) = J
END IF
END IF
30 CONTINUE
J=J+ 1
NDATA1 = COUNT
IF (COUNT .GT. 0) GOTO 20
* END LOOP
END
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ebllbbbouoooobobbbbbodooogobbobbbuooooooobbo
UOO00O0O0 N=16, 128, 1024 UL D DODOOUOOOO0OO0O 420 44000000 411
0413000000000 0Dbb00000oobobobboooooNMbbbDbbOOn
gobbobbbuoggooobbbbbouooogobboobboooooobooo

49 00 2: 00000 O0booobooo

04150 4160 0dddopoooobuodgoag 4sbbbb 46000

420000000 N=l60000O0O0O0O0O0O0O0OOOO

0000000 |00b00ob0 |jooooooo

ooooo oooooo
(0000O000)| QOO00000), @ooooon)

M 00 000 | 00 000
00 000 | 0O0@ 000 | 00@ 00O
3 004 100 005 0.78 003 109 004 0.88 004 092
7 0.08 100 0.10 0.80 0.07 107 010 0.77 0.09 0.83
17 012 1.00 015 0.78 012 095 016 0.72 015 0.76
31 017 1.00 021 084 019 091 031 0.56 029 061
61 026 1.00 0.28 0.95 030 087 057 0.46 051 051
127 050 1.00 037 135 049 101 109 046 096 052
253 092 100 051 181 085 109 202 0.46 1.76 053
511 200 1.00 0.76 263 156 1.28 418 048 361 055

0430000000 N=1280 0000000000000

0000000 |0000000 |o0oo0oooo
ogoooao gooooo
M (D0O0O0000)| QO0O0D0000) @oooo0on)
00 () OO0 | 006 000
00 OO0 | 0OO0(@E 000 | 00@ 00O
3 011 1.00 017 061 0.04 256 0.06 1.78 0.05 214
7 0.24 1.00 0.38 0.63 010 249 014 165 0.13 1.88
17 037 1.00 0.62 0.61 018 2.05 025 150 024 155
31 0.68 1.00 0.90 0.75 031 217 048 141 048 141
61 118 1.00 127 093 054 217 087 1.35 0.92 1.28
127 296 1.00 185 160 0.98 3.01 168 176 181 163
253 6.37 1.00 282 226 1.82 349 317 201 353 181
511 1469 1.00 461 3.18 348 4.22 6.30 233 7.02 209
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0440000000 N=1024 0 00O0O0OOOODOOOOO

oo0d0ooboOO0 | 0o0b00obD |boooobooa
oooaoo oooooo
M (0000O000)| (000D0000)| @ooooon)
00 (¢ 000 | 0O0@ 000
00 000 | 006 000 | 00@ 000
3 0.65 1.00 117 056 0.11 6.00 019 342 014 4.74
7 155 1.00 262 059 0.29 5.39 048 3.26 041 3.76
17 249 1.00 437 057 0.64 3.88 0.80 3.13 0.96 258
31 486 1.00 6.43 0.76 124 393 157 310 206 237
61 924 1.00 926 100 236 391 281 329 417 221
127 2404 1.00 13.76 1.75 464 5.19 552 435 854 282
253 51.27 1.00 2141 2.39 9.10 564 10.15 5.05 1717 2.99
511 116.94 1.00 3559 3.29 18.03 6.49 2046 5.71 3459 3.38

04500 000000000000 00O0OO0O0O0O0O0O (N=1024, M=511)

¥ |oooo000) @oooo0n) @ooooon) 220000
16 4.95 1.80 8.95 28.71
32 1251 3.59 8.98 28.70
64 29.23 6.34 897 2871

128 56.67 10.72 8.98 28.70

256 86.73 1513 8.94 28.68

512 116.46 19.72 8.94 28.79

1024 134.50 28.71 8.94 22.71

0460000000000000000000000000000000
(N = 1024, M = 61)

Joooooo|ooooooo | obbooooood
ooo /| ooooo oooooo
(CDO0DO0000)| (0000000)| @oooooo)
000 00 () OO0 | OO0 Oooo
00 (@ OO0 | OO 000 | 00@ 000
0.50 547 1.00 521 105 112 487 196 280 213 258
0.33 941 1.00 925 1.02 225 419 340 277 424 222
0.20 1204 1.00 12.07 1.00 337 358 438 275 6.34 1.90
0.11 1375 1.00 1390 0.99 449 3.06 506 272 838 164
0.06 1494 1.00 1511 0.99 560 267 558 2.68 1036 144
0.03 1583 1.00 1594 0.99 6.69 236 6.01 2.63 1221 1.30
0.02 16,55 1.00 16,57 1.00 776 213 6.38 259 1391 119
0.01 17.18 1.00 1710 1.00 8.77 1.96 6.71 256 1540 1.12
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410 00U 3: 00U 0O00LOODUO00ubooodg
Mmax [ O U

0000000000000 t (=12 ..)0000000 [oM) 00000000
0000 t0000000000000000 Mmex() 00000000000 O000O
0OMmaxOOOOOO0OO0OO0OO000 t0000 MmaxOOO m (m=0,...,M-1) 000
000 Ptm OOO0OOPELmMO P (=0,..., M—)00000000000000
0ooooo

mnm):(mAmPa—Lnn+aAm§;:f_$a—L@. ............ (16.1)
010000 t-1 0 MmaxO mOOOO0O0O0(QO0000t00000000000
OmOO000C0CO00000O00)I00t00000000000mO00000000
0000020000 t-10 MmexO mOOO0O0O0O0 t0000 mOOOO0OO0OO0OO
0000000000@e)000000PLMmMOIODOOODO000O0O000
waW$@m:1DDDDDDDDDDDDDDDDDDDDDDDDDDDD@M)
000000000000 000000 POOOOOOOOOOOOOO0OD pOOO
0000

X

p(t, X) =(wwnmt-L@+memJomt-L@dx ............ (16.2)

(m@DDDDDDp@mDDDDDDDDDDDDJJ%@@:1DDDDDDDD

pt,xy OO t=0,1000 200000000000000O

p(0,x) = 1/M,

X
p(L,x) = (xM)p(0,X + (1/M)J. o PO, XY dx = 2x/M?
p(2,x) =3x/M3

goodoooodoo
pt,x) = (t+M*2xt (16.3)
000o0oo0oooooooooooo@Eel3) oo

p(t+1,x) = ((t+2)/M*2) x (t +1)
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0000000000000000000000 (163)0000000Mmax 0000
Mmax(N) O p(N,x) O xO0OOOOOOOO0O0O0O0O0000O
X X
Mmax(N):_[ o XP(N, ) dx :((N+1)/MN+1)_[ o XN = M(N+1)/(N+2).

guouobboggoooobbood
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